Identify which
statements are

correct and which 2 x 3b=6b 3xt=3% 2 X 4w = 4W2
are not! - GREEN
oy x 2 = 10y 2ax2a=4a | 3bx2b=5b%2 | 3bxb=4b
By x 4y = 20y2 | 7ax 3a=10a® | 3bxb=3b | 2ax2a=4a’
3t x4=12t |4wx -2w=-8w| 3bx3b=9b [-3t x 2t =-6¢1°
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Identify which

e men | 3b2x 3b = 6b3 4a® x 2a? = 8a®  3y® x 3y = 9y

correct and which
are nhot! -

b x5b=10b2 3ax3a=9a 4a®>x3a=12a* 3ax4a=7a

3bx4b =12b%? 2x°x 3x=6x% 3a®x 3a®=9a% 2x2x 3x = 6x3

812 x 2t = 1613 3a® x 3a° = 9a*  4a3 x 3a% = 7a® 3a® x 4a3 =12a°
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Identify which
statements are

correct and which T XCc=1cC ab X 4 = 4ab 4v x 3m = 7mv
are not! - RED
2 3 - 5 - 2 2 — 2 2 2 _ 22
3y x 3z° = 9yz’| 41 x 3m = 12tm | 2y“ x 1 = 2yt° | y2 x b% = y?b
2a x 3b=5ab |41 x 6y® = 24ty°|  3ab x 3ab 41% x 6y°
= 9a°b? = 241%°
3 2
3ab x 3ab ty2 X y2 = ty* mn> X mn 3tm x 3tm
= 9ab? = mén® = 9tm

WWW.access

maths.co.u



file:///E:/ITT%20Work%20Files/Access%20Maths/Number/www.accessmaths.co.uk

